Series JSR SET-1

A .

Roll No. R A9 foard |

e 32/1

Themeff e ® SW-YRd & JE8-T8

Candidates must write the Code on the
title page of the answer-book.

FUAT S F A o 36 TH-9  fed 7 8 + 2 AHfAA B |

-5 H ife 7191 i AR U 7T ohre T shl BT ITR-YRG o J@-75 W fad |
FUA S I A b 39 IF-TT H 30 WA € |

FHUAT YFT T I FAEAT I[E I | TS, U9 T shdieh A9 ford |

9 U¥-T9 &1 Ue & fare 15 e o1 a9 fean T 81 799-va & faaror qatg |
10.15 Sl foRAT STTM I 10.15 91 § 10.30 Tl G S had J¥A-T3 i TG 3R 39
3TafY % SRM 9 IW-JRh! W HIE WK el feae |

Please check that this question paper contains 8 printed pages + 2 Maps.

Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

Please check that this question paper contains 30 questions.

Please write down the Serial Number of the question before attempting
it.

15 minute time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book
during this period.

Henfeta gdter - I1
SUMMATIVE ASSESSMENT - I1

QISR faA=
SOCIAL SCIENCE

fAeia @aF : 3 w02 SFfYHTT 37F : 90
Time allowed : 3 hours Maximum Marks : 90
32/1 1 P.T.O.



[raT (39T

)

(i)
(iii)
(iv)

v)

(vi)

59 J97-TF 7 F67 30 T¥7 &1 G F97 3ifare &/
T 99 3 3% 3G TET 13T T &

T G&TT 1 T 8 T 37fq oTg-3T09 §97 &1 Tk F97 1 37 HT &1

97 G&T1 9 G20 TF TF G973 3 FT &1 74 G i T97 %1 S 80 J<l T 374
&7 T&1 8T TNfeq

Ty GEAT 21T 28 T I G975 A FT &1 379 T Fedeh F97 %71 3R 100 V<] T 37
&7 &1 &I Teq |

T G729 3R 30 38T SR YT & HATTH et 97 TAdh 3 5h & &1 5% q FA

& dlg, HMEA] Bl SW-YIKAHT & 376X 7l X GIHT |

General Instructions :

(i)

(i)

(iii)

(iv)

(v)

(vi)

32/1

The question paper has 30 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 to 8 are Very Short Answer Questions. Each question

carries 1 mark.

Questions from serial number 9 to 20 are 3 marks questions. Answers of these questions
should not exceed 80 words each.

Questions from serial number 21 to 28 are 5§ marks questions. Answers of these

questions should not exceed 100 words each.

Question number 29 and 30 are map questions of 3 marks each from History and

Geography both. After completion, attach the maps inside your answer-book.



1. 59 Wi Sihdr € SRt IR R Sl M e S €' a8 He fRue 72 1
Jrrer

forram o R <R ohl ‘bl TehTRT STl o1 ?

Who remarked “ when France sneezes the rest of Europe catches cold”.
OR

Who were called colons in Vietnam ?

2. TYTH &Y H IUA! & STINT hl F gacHIed hiAl TME ? 1
Why should the use of cattle cake as fuel be discouraged ?

3. oM@ WGl IR I Tl | Toh 3T TR HifAT | 1
Distinguish between pressure groups and political parties by stating any one
point of distinction.

4. YNd 3 G YUIE! hl Al ST ? 1

Why did India adopt multi-party system ?

5. o fosiw o <1 fed @@l & M fafEw Lo+ le=1

Name any two sectional interest groups.

6. TGS HELTAT 39 HATET AT HRGM 7 &5 | F1 T el & i s 97 1
o 1 qaeH 9 fierd €2
Why do MNCs set up their offices and factories in those regions where they get

cheap labour and other resources ?

7. G IR gRT SYHTET i i &ifd Ugam TS §, O fh Susdier Ay & of=miq 1
I8 THAM Dl U o ToTT ST AT S Hehal © 2

If any damage is done to a consumer by a trader, under which consumer right

one can move to consumer court to get compensation.
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8. kU & U= Hidl i T YUt | TR 1 Afard € 2 1
Why is the supervision of the functioning of formal sources of loans necessary ?
9. ‘1830 T TUH JAT H IR il swfcreal ot s’ | qeh! Wied He &t gfte
HITT | 3x1=3
AYAT
“2 = T e w9 ol & favg gg # famatiEl & fa e fag
g3N'' | denl Wied wd & gt HifSw|

“The decade of 1830 had brought great economic hardship in Europe”. Support

the statement with arguments.

OR
“The Ho Chi Minh Trail became advantageous to Vietnamese in the war against
U.S.” Support the statement with arguments.

10. S H ORI AR o SR fhd YhR 1 AUST (IR fohall T o1 72 SHeh! A
forgreraati sl Tote HifSTT | 1+2=3

What type of flag was designed during the ‘Swadeshi Movement’ in Bengal ?
Explain its main features.

11. 3788 H 9rT Aeigd St HereH T o foeml oiR WS o R # oTt e 3
STYROT oft | qeh QoY YA i I HIfTT|

“The plantation workers in Assam had their own understanding of Mahatma

Gandhi and the notion of Swaraj”. Support the statement with arguments.

12. %ol AT o ©Iq o SR TR eI ! FiThd hifoC | F Toh g d o M €2

Classify industries on the basis of source of raw material. How are they different
from each other ? 1+2=3

13. ‘R IWH el ok Wt THR 1 STAN 9 W@ g | ol bl F=d AR Sl o [9hTE o
G 990 7 ol faehfEd e st g Aaeashdl ¢ ' 38 Saad SHE & FaR
% T 1E T ST FEIET IR 3% T il | 3x1=3

‘Consumption of energy in all forms has been rising all over the country. There

1s an urgent need to develop a sustainable path of energy development and
energy saving’. Suggest and explain any three measures to solve this burning
problem.
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14. YR H Tnfires faehm o RO Scqel TR0 f1eRtor &1 ¥ i & fau &8
T 3uT gy | 3x1=3

Suggest any three steps to minimise the environmental degradation caused by
the industrial development in India.

15. &g ToTHider ardl 9 1 1fgm § 7 ¢ &g Tetifdeh arel’ i HIdT 9T A
& AU oTewas 1 ol ool hifod | 1+2=3

What is meant by regional political party ? State the conditions required to be
recognised as a ‘regional political party’.

16. SHfEd GATd TS FAT1 & 2 3Teh! 1 JUNCH ohl F0M HITAT | 1+2=3

What are public interest pressure groups ? Describe their functioning.

17. 379 YRA ¥ TSHITTh Tl b THE i H qF FAMTA I Hd § 2 A fo=R
glichd 1+2=3

Which three challenges do you feel are being faced by political parties in
India ? Give your opinion.

18. ‘‘Shl | STHI ol TS SFRISTAT STHIShAl o WY-T1Y U & ferw feqamt €711 e i
T I | 3x1=3

“Deposits with the banks are beneficial to the depositers as well as to the nation”.
Examine the statement.

19. TAA & S YR TR A faes =R iR faesh faw w yfdsy =i e few 3
& ? HRO 1 TITATI FHITIT |

Why had the Indian government put barriers to foreign trade and foreign
investments after independence ? Analyse the reasons.

20. 'STER H SuHIERS! i GRN o foary Fram IR fafr=di &t sravasa e 81’ 59
HYF i FEIed 3T | 3x1=3

“Rules and regulations are required for the protection of the consumers in the

market place.” Justify the statement with arguments.
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i | A 3 Ias i T fRar o1 TR WemEtTe & § 38 i
fagr=i 1 wamee fora fag O e sifys qeheTd 3R F3ra a9 Wk | ol
Afed 39 FUF H1 faveiyo Hifed | 5x1=5

3AAT
“far § =it i< arateti A faeraam 1 favsH fem fSae aRomesy wet

~G

TS i e 7 faga ™ w1 g5 &5 § a5 faan)”’ ol died 36 KU H
forgeioT shifST |

“Napoleon had destroyed democracy in France but in the administrative field

he had incorporated revolutionary principles in order to make the whole system
more rational and efficient.” Analyse the statement with arguments.

OR

“The peace negotiations in Geneva followed the division of Vietnam that set in
motion a series of events that turned Vietnam into a battle field.” Analyse the
statement with arguments.

HeTeHT e 3 Wigar 3Ta SAieier &l a9 o= 1 (ot == fopen 2 T shifsiu |

Why did Mahatma Gandhi decide to call off the Civil Disobedience
Movement ? Explain. 5x1=5

@Gfsil & GI&T01 1 e T ShifS8 | 3= U s & fau fe=i a9 suri &
ISR IS | 2+3=5

Explain the importance of conservation of minerals. Highlight any three
measures to conserve them.

IR H Tg ufaed 1+t oft Yot ufkaes i erden tferes glasrse €1 awhf afead
Y R 1 GHA SIfT | 5x1=5

“Roadways still have an edge over railways in India.” Support the statement
with arguments.



25. ST & SArRTad Herd a1 90i I | 5

Describe the popular struggle of Bolivia.

26. ‘' o foTT TSTHITdS Sal b1 BT STavdeh 34 €1’ 39 e o1 3Se0l 9fed
forgetwor SifST | ox1=5

“Political parties are a necessary condition for a democracy”. Analyse the
statement with examples.

27. TR &= & HUN ] fhd THR T TR SR ASIGU o T TRt s

ST HHAT € 7 IS Ui S G | 1+2+2=5

How can the formal sector loans be made beneficial for poor farmers and
workers ? Suggest any five measures.

28. AT 3Tefcqael T GYaIehiul o YHUTEl hl SSTEL0N 9ied FuiH hifsa | 5x1=5

Describe the impact of globalisation on Indian economy with examples.

29. T AL A, B 3R C 9RA o U T4 1T W@1-AHes (753 9 W), | 3ifeha fhu
T 1 39 Aol 1 frefafaa S’ i geEar 9 g ok S e e A
e | St 18 W W fafe . 3x1=3

A. 9% T S gdl el foa el 7 e faa o

B. 9% TN S STHEAN e 9199 o1 § T g 2|
C. 9% TIM SRl YRdT AT HIT T ST gam ol

Three features A, B and C are marked on the given political outline map of
India (on page 9). Identify these features with the help of the following
information and write their correct names on the lines marked in the map :

A. The place where cotton mill workers organised Satyagraha.
B. The place related to the calling off the Non-Cooperation Movement.

C. The place where the Indian National Congress Session was held.
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e : e e shacl greanerT gaeerar o fa I9- SE&A 29 o ¥ WE
(29.1) 38 TR %1 M fafaw, Sl gt wuer fret Tergdl 3 gemre fowan o
(29.2)  STHEAN TSI i A9 o4 § GHE¥d TH o1 AW fafaw |
29.3)  TeEmR 1920 H IRAA [T HIUT T ARIAYA Fel geTT o1 ?

Note :  The following questions are for the Visually Impaired Candidates only
in lieu of Q.No. 29 :

(29.1) Name the city where cotton mill workers organised Satyagraha.
(29.2) Name the place related to the calling off the Non-Cooperation

Movement.
(29.3) Where was the Indian National Congress Session held in
December 1920 ?

ne o

30. R o fau T TeHifaew War-amfas (7% 11 W), | Fefafed 1 ey == 9
gIEY 3R 39 W fafgu : 3x1=3
A, q9 & - fereg

B. gl 9 39 947 - fyag

C. YqE §Ygl U - il

On the given political outline map of India (on page 11), locate and label the
following with appropriate symbols :

A. 01l Field - Digboi

B. Iron and Steel Plant - Bhilai

C. Major Sea Port - Kochi

T  Trefafed g Faa gfeanfia gienfefar % g ge 9@ 30 % wWH WE
30.1)  femeE 9o & form Toa H fee@ €2
(30.2) 39 =¥ w1 AW fafgy, Sl faar «er oI soqra 9+ o § 1
(30.3) W o Y&l T TR ferd werd <faroft g | oo o1 A fafee |

Note :  The following questions are for the Visually Impaired Candidates only
in lieu of Q.No. 30 :
(30.1) In which state is Digboi oil field located ?
(30.2) Name the state where Bhilai Iron and Steel Plant is located.
(30.3) Name the Southernmost major sea port located on the eastern

coast of India.
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T 9. 29 for For question no. 29

WA HT YET-AERE ( TSR )
Outline Map of India (Political)
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For question no. 30

YR hT Y@T-UHTe (AT )
Outline Map of India (Political)
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